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Antworten

1. 1,0

2. 6,0

3. 7,6

4. 0,3

5. 7,2

6. 0,6

Lösen Sie jedes Problem. Runden Sie Ihre Antwort auf das nächste Zehntel.

1) 0.9  0 ,89

-0,8100 0,9

0,0800

-0,0720 0,08

0,0080

2) 0.4  2 ,40

-2,4000 6

0,0000

3) 0.2  1 ,51

-1,4000 7

0,1100

-0,1000 0,5

0,0100

-0,0100 0,05

0,0000

4) 7.1  2 ,13

-2,1300 0,3

0,0000

5) 0.6  4 ,33

-4,20000 7

0,13000

-0,12000 0,2

0,01000

-0,00600 0,01

0,00400

6) 4.4  2 ,816

-2,64000 0,6

0,17600

-0,17600 0,04

0,00000
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Lösen Sie jedes Problem. Runden Sie Ihre Antwort auf das nächste Zehntel.
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Antworten

1. 1,0

2. 6,0
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4. 0,3
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